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2) ﬁnaé/ tical method :
“/Qna/(ya‘/ca/ method based on the mean_ yalue
Theorem . Let F(X) be a real continuous Function

on the interval [a,b] , where a and b are veal
numbers such that a<b , if Fta) and F(b)

| have ofifferent 5/’;;’)5,1%5;7 there exists at least

6ne reel rvoot on the interval [a, b].

__w_,_ﬁ_ma_,accumg'y 70 determine the location éﬁ yoots .
,_____ole/ocno{ o). a»{[u/o.//}% the imterval [e,b] nto

| subintervals .

___of_c/la%fxs__/ﬁ S (/7-9)75 of F(x) .

.._4.._49~[_£b412y£ﬂiml}i_$1;/)5_. of Fr-x).

The number of /oo.s}fz'ue, roos of F(x) Is 1he number

The viumber of negalive roots of F(X) s the number

_EXam/o/e‘U)_ 2 Find _the number of positive and .

_)’Ieiafj?c/ﬁ-fo_o ts and their locations for the fo‘_.f lowit njz |

,eyuafjpp__bi_usm i’ ,,b‘)d-ﬂna// Feal meth od on the
interval [=151]: S
F(_X) ;._-__)_(_2:_)4(— | R

Solution :
2
(_xg)_ﬁ:__—s‘— ,X,._-_X‘. ,lﬁ_____._._.___*.w_*« S i
¥

R T R S R LS S

_,Q;Egng.l's,_aﬁeﬁ)Qo_;JiL«/A‘xo of e — T

2

I




,L 777cre /IS one ﬁcz)qaz‘:'Ue root .
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= There Is one r)e(/ga%fuc voot in the subinterval
- (=l,0) , while there Is no positive yoot in the

fnfcﬂ/a/ (=1,1) .

h___.EXam/Q,L’&(Z);M/‘—/}’m{ the number of P05 ‘tive and

—{-neg ative roots onel their locations For the Following
v

_igua_fjanj b#,_u_sfﬁﬁ_i‘hf;an a/i tical method =
a) Fie) = %= ¥l T = Tl 2]
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1 Solution : a  From examp le 1 ¢he Function
L F(x) =x%2_x -1, has one /oosfv.‘fue voot and one
| pne iqf[t[ﬁ,_m,a r,
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12 There |s o n_e_,_n.?m.’:iunm::oot in the subinterval (-1,0).
and one o0 sitive yoot in the subinterval (1,2) .
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